




In this question, a sentence has been divided into four 

parts (A), (B), (C) and (D). Read the sentence to find out 

whether there is any grammatical error in it. The error if 

any, will be in one part of the sentence. Mark that part as 

your answer. If there is no error, the answer is ‘No error’. 

Ignore the error of punctuation if any. 



By trailing a thread (A) behind them (B) a spiders are 

able to drop (C) from any height to the ground.(D)

1. (A)

2. (B)

3. (C)

4. (D)

5. No error



Rohit will adopt (A) the child as soon as (B) he and Sati 

are (C) married with each other. (D)

1. (A)

2. (B)

3. (C)

4. (D)

5. No error



We got much snow (A) here last year (B) but it did not 

come as a (C) surprise as we are used to such events. (D) 

No Error (E)

1. A

2. B

3. C

4. D

5. E



While walking home after work, the Policeman (A)/ saw 

an armed robber running away,(B)/ his instincts kicked in 

and  (C)/ he yelled, "the stop thief!" before firing a shot. 

(D)/ No error (E).

1. A

2. B

3. C

4. D

5. E



This is the letter about what the lecturer is speaking. (A) 

It is supposed to be highly arcane. (B) That is why the 

lecturer has suggested that it (C) should be read in pairs. 

(D) No error (E)

1. A

2. B

3. C

4. D

5. E



In the following sentence, five words are given in 

bold, out of which one word is misspelled. Find the 

misspelled word.



However, for India, the real issue is not about maintaining 

(A) adaquate (B) food stocks, which WTO rules do not 

prohibit (C), provided food is stocked (D) by employing 

non-trade distorting(E) instruments such as providing income 

support to farmers.

1. A

2. B

3. C

4. D

5. E



With a depreciating currency(A) and rising (imported) 

inflation, prospects (B) of sustaining(C) investment(D) 

recovry(E) are likely to get harder.

1. A

2. B

3. C

4. D

5. E



While the mental health needs of the LGBTQIA++ 

communities(A) are not different from others, their 

identities(B), social contexts and discrimination(C) give 

them stressors(D) that impact their mental health, 

relentlesly(E), from a young age.

1. A

2. B

3. C

4. D

5. E



The presense(A) of the U.S.’s trans-Atlantic and trans-

Pacific military allies(B) at one conference(C) sent out a 

clear message against a perceived(D) Russia-China 

alliance(E).

1. A

2. B

3. C

4. D

5. E



The given question has one blank indicating that 

something has been omitted. Choose the word from 

the given options that could fit in the blank correctly.



They should not ____ or knowingly mislead 

Parliament or the public.

1. delight

2. deceive

3. disgust

4. profound

5. wise



All ancient writers ____ the essentially warlike 

character of the Germane.

1. emphasize

2. question

3. casual

4. asking

5. provide



It is not ____ to collect income tax on a regular 

and consistent basis.

1. feasible

2. educative

3. deposit

4. valuable

5. swatch



The question below contains five scattered segments 

of a sentence. Indicate the sequence which correctly 

assembles the segments and completes the sentence. 



A. and progress in society

B. we have to think

C. and work for the broader

D. beyond the petty interests

E. goals of bringing prosperity

1. ABCED

2. BDCEA

3. DBECA

4. CBEDA

5. EBDCA



A. google is the ultimate

B. a fast-paced, high-energy

C. working setting

D. and is defined as

E. global company

1. BADEC

2. ABCDE

3. BCDEA

4. AEDBC

5. CDBEA



A. behaviour of individuals

B. which influences the

C. analyses the factor

D. organisational behaviour

E. in an organisation

1. CDEAB

2. ADECB

3. DCBAE

4. ABCED

5. BCEAD



THANK

YOU
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